[C]

IR
7/ 177 7] 177 |

12

14

15

16

17

18

25 =

24 =

23 =

22 —

21 =

20 =

19 =

18 —

17 =

16 =

24 =

23 -

22 —

21 =

20 =

19 =

18 —

22 —

21 =

20 =

19 =

18 —

17 =

16 —

23 =

22 —

21 =

20 —

19 =

18 —

17 =

220124

JARIRTIRY
= 258 &
A =g ]
aalaaiadiad

A IBAR:

1721010509131721010509131721010509 1721010509131721010509131721010509 172101050913172101050913172101

117111111111 1Td
172101050913172101050913172101

rrrrrrrrrrrrurrirTd
17210105091317210105091317210105

Hour of the day (LST)

rrrrrrrrrrrrrrrriri
162000040812162000040812162000040812

rrrrrrrrrrrrurrird
17210105091317210105091317210105

rrrrrrrrrrrririrri
17210105091317210105091317210105

—— TAIR_ORef

—— TAIR_1Sol



